



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{3}{5}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right) + \frac{3}{5} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^3 - \frac{2}{5} =$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{6} =$$



Nome: _____

Encontro: Data: _____ Pontuação: _____

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{1}{5}\right) = \frac{24}{125}$$

$$\left(\frac{1}{6}\right)^2 + \left(-\frac{1}{4}\right) = \left(-\frac{2}{9}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{3}\right) = \left(-\frac{5}{24}\right)$$

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{3}\right) = \left(-\frac{2}{3}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{17}{36}\right)$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{4} = \frac{41}{100}$$

$$\left(\frac{3}{5}\right) + \frac{1}{3} = \frac{14}{15}$$

$$\left(-\frac{1}{5}\right) + \frac{3}{5} = \frac{2}{5}$$

$$\left(\frac{2}{5}\right)^2 + \frac{3}{5} = \frac{19}{25}$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{3} = \frac{52}{75}$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{1}{3}\right) = \frac{19}{48}$$

$$\left(-\frac{3}{4}\right)^3 - \left(-\frac{3}{5}\right) = \frac{57}{320}$$

$$\left(\frac{3}{5}\right)^3 - \frac{2}{5} = \left(-\frac{23}{125}\right)$$

$$\left(\frac{1}{3}\right) - \left(-\frac{1}{6}\right) = \frac{1}{2}$$

$$\left(\frac{1}{2}\right) - \left(-\frac{1}{5}\right) = \frac{7}{10}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{2} = \frac{27}{50}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{4}\right) = \frac{1}{8}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{2}{5} = \frac{77}{180}$$

$$\left(-\frac{1}{2}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{3}{8}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{6} = \left(-\frac{131}{750}\right)$$